
Задание: 
 
Программа запрашивает, сколько конфет съели Катя и Маша, и выдает сумму на экран. 
 
Экран: 

Skolko konfet kupila Ma6a? 
6 
Skolko konfet kupila Katja? 
7 
13=6+7 
OTVET: 13 konfet 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 
 

Program konfeti; 
 
Var M, K, S: Integer; 

 
Begin 

Writeln (‘Skolko konfet kupila Ma6a?’); 
Readln (M); 
Writeln (‘Skolko konfet kupila Katja?’); 
Readln (K); 
S:=M+K; 
Writeln (S); 
Writeln (S, ‘ konfet‘); 
Readln; 

End. 
 
 
 

 
 
 
 
 



 
 
 
 
 
 
Writeln (S, ‘ konfet‘); 
 
 
 
 
 
 
 
 
 
 
 
 
 
Writeln (‘ OTVET: ‘,S, ‘ konfet‘); 
 

 



 


